H & 0l & AHS B Ml A

EM A=A
3 MsdE
Rl MSEALEM XIS (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
AL AA D 25,654,412 14,033,519 11,620,893
= 38,835 38,835 0
) 804,946 323,534 481,412
< 279,675 303,259 N23,584
= 24,530,956 13,367,891 11,163,065
H=&E 19,381,470 12,933,345 6,448,125
= 38,835 38,835 0
Jl 804,946 323,534 481,412
< 108,800 132,384 N23,584
= 18,428,889 12,438,592 5,990,297
HSHAIRL EHHIXI2 1,297,978 1,217,238 80,740
< 20,500 0 20,500
= 1,277,478 1,217,238 60,240
18Z5)| elHE =2 8,000 0 8,000
307 2I2t01 8,000 0 8,000
04 DIZFHATAIZ B X 8,000 0 8,000
ONHZ4D| 2lHYE 203 8,000 0 8,000
DEZOERIED] Ok E 3,000 0 3,000
307 2Ito1d 3,000 0 3,000
04 DIZFHATAIZ 2 3,000 0 3,000
ONEZ0PESIED| O3l 3,000 0 3,000
D281 AHOIE=SU3 5,000 0 5,000
307 2Ito1d 5,000 0 5,000
04 RIZFHAIAI E = 5,000 0 5,000
Ond==ti HNoIESUa 5,000 0 5,000
ezt == 15,000 0 15,000
307 2I2t01 15,000 0 15,000
04 DIZFHATAIZ B & 15,000 0 15,000
Ond=Zt =S 15,000 0 15,000
MEHE A2Z0t2HENS 4,240 0 4,240
307 2IZtold 4,240 0 4,240
04 DIZFHATAIZ 2 X 4,240 0 4,240
OdEH= A20tct=Hal 4,240 0 4,240
HHossl M=M= (L=A0]) 10,000 0 10,000
307 2Ito1d 10,000 0 10,000
04 RIZFHAIAI E = 10,000 0 10,000
ONM053] d=HFH(AZ=FI) 10,000 0 10,000
=S 54 BLURU2 5,000 0 5,000
307 gl2to| & 5,000 0 5,000
04 DIZHHATAIZ B & 5,000 0 5,000
Ox==std FoELRUHS 5,000 0 5,000




EM A=A
M MsEE
Rl MSEALEM XIS (SH9 H2)
SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
202448 M=HAE L MIFOHAUME A2 d3t=ES K 12,500 0 12,500
&
< 12,500 0 12,500
201 LEeH2 | 12,500 0 12,500
[ 12,500 0 12,500
03 A2 HHI 12,500 0 12,500
020243 H=HE L E=ZOHAME A2 o
sEs X 12,500 0 12,500
< 12,500 0 12,500
20248 =M L MIFOHAME A2 MEHE X 8,000 0 8,000
2 A
< 8,000 0 8,000
201 er23| 3,000 0 3,000
< 3,000 0 3,000
03 A2 I 3,000 0 3,000
o224 E=HE & E=ZHAME Al A
ZHZE X A 3,000 0 3,000
< 3,000 0 3,000
301 LEtENS 5,000 0 5,000
[ 5,000 0 5,000
1 SAREIXES 5,000 0 5,000
020243 H=HE L E=ZOHAME A2 A
ZHZ X A 5,000 0 5,000
< 5,000 0 5,000
SIUGAE DddNAE=SE K 10,000 0 10,000
307 2Ito1 10,000 0 10,000
02 2B YAIHE A 10,000 0 10,000
OStWOAE NHdMAZXZSYE X 10,000 0 10,000
B =S2H5t 507,231 438,575 68,656
= 38,835 38,835 0
2l 188,542 157,130 31,412
[ 3,155 5,239 n2,084
= 276,699 237,371 39,328
LEHUSHHIS XIS X HHXI ALY 220,136 188,742 31,34
Il 110,088 94,371 15,697
= 110,068 9,371 15,697
307 2I2to1 220,136 188,742 31,3%
2l 110,068 94,371 15,697
= 110,068 94,371 15,697
02 2IZHBYAIHE A 220,136 188,742 31,34
OBt KIS X TAF HHXIAHS
3& 220,136,000 220,136 188,742 31,34
) 110,068 94,371 15,697
s 110,068 94,371 15,697




2A:

M MENE
Chel: MEXSELS (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
HEAMEH SIS BIXIAM 94,344 62,914 31,430
| 47,172 31,457 15,715
[ia 47,172 31,457 15,715
307 212t01 & 94,344 62,914 31,430
Il 47,172 31,457 15,715
= 47,172 31,457 15,715
02 QIRHEAAIHE X 9,344 62,914 31,430
ONHZUMEHSXE I BHXIALY
& 94,344,000 9,344 62,914 31,430
J| 47,172 31,457 15,715
s 47,172 31,457 15,715
ZOHeI M= SO0t XI& 532 4,700 A4,168
= 266 2,350 A2,084
i 266 2,350 A2,084
307 212t01 & 532 4,700 A4,168
= 266 2,350 A2,084
= 266 2,350 22,034
02 QIS EX 532 4,700 N4,168
oMM =FSO0tel X
2 & 532,000 532 4,700 A4,168
S 266 2,350 22,084
s 266 2,350 A2,084
HEAIEMEE X 30,000 20,000 10,000
307 212t01& 30,000 20,000 10,000
02 QIABAAHER 30,000 20,000 10,000
OMsSAEANEE K&
&3 30,000,000 30,000 20,000 10,000
H=SEStAY 1,264,172 1,234,172 30,000
Il 166,404 166,404 0
= 21,39% 21,3% 0
s 1,076,373 1,046,373 30,000
Fad delE & 52 EF @At 30,000 0 30,000
307 el2+old 30,000 0 30,000
04 QIZHHAIAIH 2 £ 30,000 0 30,000
ORAE HelE d 5|2 EF A 30,000 0 30,000
AEIMASHIIA 3,699,700 2,787,700 912,000
S 38,000 80,000 A42,000
i 3,661,700 2,707,700 954,000
2SI 91,700 81,700 10,000
307 gIztol 30,000 20,000 10,000
04 QIZHFHAIAIH 2 = 30,000 20,000 10,000
OA%E Ms8A 28= K&
&% 30,000,000 30,000 20,000 10,000




2A: ALEAAD
M XsEE
o ARIMASHEXIA (SH &)
SA - HY . O9(3) - HIRAIY - BAS ol & o H o HDS2
FHEZA MEHE 400,000 0 400,000
307 QI2H0| A 400,000 0 400,000
04 CIZIHAIAIRIE X 400,000 0 400,000
OFHZEA NEUS 400,000 0 400,000
8| d=310S80 F50U3 215,000 220,000 25,000
= 5,000 10,000 25,000
i 210,000 210,000 0
307 gIzHol ™ 215,000 220,000 25,000
= 5,000 10,000 25,000
= 210,000 210,000 0
04 CIZISHALAIRIE & 215,000 220,000 25,000
OFE)| dM=10sstu FF0U3E HEl XIJ
d& 215,000,000& 215,000 220,000 25,000
< 5,000 10,000 A5,000
= 210,000 210,000 0
&= =&t =703 195,000 200,000 25,000
= 5,000 10,000 A5,000
i 190,000 190,000 0
307 gI2tol 195,000 200,000 25,000
= 5,000 10,000 25,000
= 190,000 190,000 0
04 CIZHSHALAIRIE & 195,000 200,000 25,000
Od= =t =703
A& 195,000,000& 195,000 200,000 25,000
= 5,000 10,000 25,000
= 190,000 190,000 0
SXIAHH SZCHE 58,000 90,000 232,000
= 18,000 50,000 A32,000
i 40,000 40,000 0
307 gI2Hol ™ 58,000 90,000 /32,000
= 18,000 50,000 A32,000
= 40,000 40,000 0
04 CIZHSHALAIRIE & 58,000 90,000 A32,000
OSZXIAtHN =Z0H3
Z & 58,000,000& 58,000 90,000 232,000
= 18,000 50,000 A32,000
= 40,000 40,000 0
&= MEHSE BH20HE 60,000 0 60,000
307 QI2HO1 M 60,000 0 60,000
04 QIZHHAIAIRIE & 60,000 0 60,000
ON= MENSF =2l 60,000 0 60,000
&= S0= 45,000 0 45,000
307 gIzHol 45,000 0 45,000
— 4 —
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ST ABAATDL
M [SAE
Chel: AEXAMASHX|H (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
| ozgssizb =703 5,000 0 5,000
HRAAACH3 60,000 0 60,000
307 Q12H0| M 60,000 0 60,000
04 QIZFSHAIALE 2 25 60,000 0 60,000
Od=aHATUZ 60,000 0 60,000
H2MEH SN 90,000 0 90,000
307 212t01 & 90,000 0 90,000
04 QIZFHAIAFE 2 X 90,000 0 90,000
OX=MNSSHLU 90,000 0 90,000
d=0{2loIMSE2U3 90,000 0 90,000
307 2IZt0| & 90,000 0 90,000
04 QIHBAPAIR S E 9,000 0 90,000
OFR0IZ0INESTH3| 90,000 0 90,000
UL S50 S0 40,000 0 40,000
307 Q12H0| M 40,000 0 40,000
04 CIZHHAMALH 2 & 40,000 0 40,000
OB dET XA S22 52U2 40,000 0 40,000
HSIIEAI 2 &S A 10,159,500 4,879,500 5,280,000
Jl 450,000 0 450,000
T 25,750 25,750 0
= 9,683,750 4,863,750 4,830,000
HSA LAY 1,338,000 1,068,000 270,000
401 AlEHI L2 OHH] 1,338,000 1,068,000 270,000
01 AlZHI 1,338,000 1,068,000 270,000
0ARREEI|T HX
&d3d 200,000,000 200,000 100,000 100,000
OAZXEIR 271& QIZTC HIISH2IA
= 50,000 50,000
ORI HSAIE HESAY 50,000 50,000
OHEE U FAR T2 80,000 80,000
OHILIAT Al& HEBA
2F 140,000,0002 140,000 150,000 10,000
NBHSDY STAY EXNLM(SSHAIASTLT 1,600,000 0 1,600,000
MRl AMEIE)
401 AlZHIL 2 CHb| 1,600,000 0 1,600,000
01 Al&ZH] 1,600,000 0 1,600,000
OEXI24HI 1,600,000 0 1,600,000
DHE HEABIE TN 3,700,000 1,100,000 2,600,000
401 AIZHIX 20HH 3,700,000 1,100,000 2,600,000
01 AlZHI 3,700,000 1,100,000 2,600,000
ONg= LIA=2d TEAE 2,600,000 0 2,600,000
S1E HSAIE(HAHX) ZEALS 800,000 2,000,000 21,200,000
401 A2 HIRL 201 800,000 2,000,000 21,200,000




A AXAH D

g Msds

Rl HMSIIEAI =S A (Cre|: ®M2)

SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
01 A=l 800,000 2,000,000 A1,200,000
OEXIZ 4] Z & 800,000,000 800,000 2,000,000 A1,200,000
DEZ IS MEUZ ZHIAI 500,000 0 500,000
401 AlZHIZ S 0HbI 500,000 0 500,000
01 AlZHI 500,000 0 500,000
ONEZ =2 H UESUZ FHIA 500,000 0 500,000
SE=2SE 24 HEFAY 1,500,000 0 1,500,000
Il 450,000 0 450,000
[ias 1,050,000 0 1,050,000
401 Al HIZL S 0HYI 1,500,000 0 1,500,000
J| 450,000 0 450,000
s 1,050,000 0 1,050,000
01 A=l 1,500,000 0 1,500,000
OSE=sE 284 HE2=A 1,500,000 0 1,500,000
J| 450,000 0 450,000
[ia 1,050,000 0 1,050,000
HEAIE A2 S 10,000 0 10,000
201 L= 10,000 0 10,000
03 HAI2HI 10,000 0 10,000
OXM=AE =30 HE A2 10,000 0 10,000
2HHsHE 2E 749,662 706,933 42,729
SHSHEHES 735,662 692,933 42,729
101 e124d| 334,032 309,303 24,729
04 JIZtHN2Z2 S8+ 334,032 309,303 24,729
OZaMSHH 2l 22X 12| 194,013 169,284 24,729
oJ12= 23 123,645,000 123,645 98,916 24,729
201 2= 341,130 323,130 18,000
02 324l 303,200 285,200 18,000
oNIIR3 &3 48,000,000& 48,000 132,000 /84,000
(OPJESTE=) 12,000,000& 62 72,000 0 72,000
o&ot=E 23 Z& 90,000,000 90,000 60,000 30,000
=eMsdEe =24 204,502 170,502 34,000
=0HSHE 2L 204,502 170,502 34,000
201 L2 173,210 139,210 34,000
02 S3=4gl 137,400 103,400 34,000
oNIIR3 23 120,000,000 120,000 96,000 24,000

O=LM=4H S22/l

& & 15,000,000 15,000 5,000 10,000
NHeEs 5,172,768 0 5,172,768
BAEXE(AE=ARL) 5,172,768 0 5,172,768
=54l Ex3 gt 5,172,768 0 5,172,768
802 Btet=DIEt 5,172,768 0 5,172,768
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